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2A: HSE2UAADIEE
M ATA THMAY =3

ol CAIDELEAIY FF(FETABLESES) (el o)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HNEZauaAd=tH 24,026,609 30,143,390 26,116,781
e ALY =& 23,376,609 29,493,390 26,116,781
CAZELIAMNYE FA(FHEHBSESA) 23,376,609 29,493,390 26,116,781
NEZsUdAs =8 42,900 0 42,900
201 fer= 3| 34,200 0 34,200
01 At 2|l 34,200 0 34,200
ON=ZZUldA =8 238 U2 - 82 S
24l 34,200,000 34,200
202 04l 1,500 1,500
01 2LHoIH 1,500 1,500
ONEE=UgA A 23 22 £
1,500,000 1,500
203 =] 7,200 7,200
03 A= PR FA| 7,200 7,200
ONEZZUlaA 2 YRFA
7,200,000 7,200
MEZSUlotA DIAHZ™ =8 EF 2,300,000 0 2,300,000
207 ARl 2,300,000 2,300,000
01 HESHI 2,300,000 2,300,000
ONSEZUlatA DIAEHSY =8 Y
2,300,000,000& 2,300,000
RIS SAITHAM(QIA NEHEEZAl THAAIS-ZE 14,868,000 13,221,000 1,647,000
)
401 AIZHIX R0 14,868,000 13,221,000 1,647,000
01 AlZ2H| 14,588,000 13,206,000 1,382,000
O30t HHIAME 14,588,000,000& 14,588,000
02 2/l 260,000 0 260,000
O30t HdIAr 260,000,000 260,000
03 A2 CHYI 20,000 15,000 5,000
O30t HdIAr 20,000,000 20,000
dyEAS =29 599,665 1,099, 140 A4, 475
201 er23| 524,665 1,024,140 N4, 475
01 AtR2t2|HI 115,190 105,190 10,000
OMMBHE UBi+8Y)
115,190,000 115,190
02 s3=gbl 409,475 918,950 509,475
Oda2s 2Ael2d 409,475,000 409,475
405 AHaHE S 75,000 75,000
01 AL =S F = 75,000 75,000
OdaEHS THetH S| 75,000,000 75,000
MEIGISSEE HE(SSUH UE23HEH) AFE( 692,051 0 692,051
HE-xH)
401 AIEHIX 20HH 692,051 692,051
01 A28l 692,051 692,051




2A:

NS LUl &A=
X

Hu: QACA TJAAY XX
Cel: CAIREYRAIY 2X(ACASHESHS) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUEXIGIESSEE A (SEHH Me=2s
HIE) At 692,051,000& 692,051
e SSHYE A2EN 23 29 29,550 34,850 15,300
201 er=23y| 29,550 34,850 A5,300
01 AtR2t2|HI 23,550 24,850 21,300
O%de g4+¢ 22,050,000 22,050
Oget=ZH] 1,500,000 1,500
03 A= &I 6,000 10,000 24,000
O3 24| 6.,000,000& 6,000
gt 1-8F5F 24 IHAIL 3,000,000 3,000,000
401 AIZHIZ SO 3,000,000 3,000,000
01 Al&H| 2,993,000 2,993,000
OUg 1-825F 24 A AlZH|
2,993,000,000& 2,993,000
03 Al 20HHI 7,000 0 7,000
Oue 1825 4 LAY A0
7,000,000 7,000
Hetd 27 23 TAIHA 166,423 7,829,000 AT,662,577
401 AlZHIZL SO 166,423 7,829,000 AT ,662,577
01 Al&HI 166,423 7,812,270 AT,645,847
OF AR B 2L & 124,366,000 124,366
Oed 22 NHaSse A
42,057,000& 42,057
JHEHE JHQIOIS (2 )=E 23 AtY 250,000 150,000 100,000
308 AFAIEHMSOIE 250,000 150,000 100,000
11 S [2S0 e YA A A 250,000 150,000 100,000
ONEs jelols(2d)=t 2 Al
250,000,000 250,000
NS HIHE S EXRME 2E 38,020 33,400 4,620
201 Ler=23 | 32,320 32,200 120
01 At2teltl 27,520 29,200 1,680
Odgt+==H| 13,000,000& 13,000
O Sit= 14,520,000& 14,520
02 s3=ghl 4,800 3,000 1,800
03323 4,800,000 4,800
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
Ol gAAHE g2 =& 1,200,000& 1,200
405 Attt = 4,500 4,500
01 ML ESFSHI 4,500 4,500
Ot SHI 4,500,000 4,500
AEIEN 28 24 40,000 37,000 3,000
201 et 3| 40,000 37,000 3,000




A MSE2UA 2
Hu: QACA TJAAY XX
Cel: CAIREYRAIY 2X(ACASHESHS) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 10,000 17,000 /7,000
Oget+=ZHI 10,000,000& 10,000
03 A= SHI 30,000 20,000 10,000
OARIoi2t2s D2 2% S
10,000,000 10,000
OAlgIEN 23PIgt X8 S
20,000,000 20,000
A0tE2Z Jlgh x4 1,350,000 1,100,000 250,000
308 XXM SO0l 1,350,000 1,100,000 250,000
11 SIS0t 4 A AS A 1,350,000 1,100,000 250,000
OADIEZZ Al =4 K& A
1,350,000,000& 1,350,000
HeEsS(HSEZEUAADIEE) 650,000 650,000 0
SHHX S (R ASEESLEIA) 650,000 650,000 0
tl==dcisas 650,000 650,000 0
705 D=2 3cISais 650,000 650,000 0
04 Al - EXISHL DS 0= 0l Khatgt 650,000 650,000 0
OAl- &= XIgIHEI IS Oil== OlXtatet
650,000,000& 650,000
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XxH -« IT
= d33XA

SAM: ZAICIAIE
|
t

Cel: TAIZ2RH (LSS E) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SAICIAFIE 4,700,500 6,513,750 A1,813,250
dEZA Xg SAIZ2 &4 4,700,500 6,513,750 21,813,250
CAZEEE(JCYELIELEFA) 1,500,000 1,240,000 260,000
CAXNS F2Ed A 600,000 450,000 150,000
403 AXIEHHSAH=Z01d 600,000 450,000 150,000
B S 600,000 450,000 150,000
02 - 7 THXY ZBELAI
600,000,000 600,000
o7 ZaAEd At 900,000 790,000 110,000
403 X SHHMSAH=01H 900,000 790,000 110,000
01 XIS A =2 & 900,000 790,000 110,000
Oz dHEd A 900,000,000 900,000
S0 ZE (oS- SE3H) 3,064,500 5,273,750 22,209,250
HE=OIAR Ope 150,000 100,000 50,000
401 AIZHIX S0HH 150,000 100,000 50,000
01 AlZ2H| 150,000 100,000 50,000
O™ ZAAl H=CIAQ! 10X JHE
150,000,000 150,000
= - 7 S30XA XA 2,564,500 3,257,000 692,500
403 THXISHMSAH=01H 2,564,500 3,257,000 692,500
01 AR A =2 £ 2,564,500 3,257,000 A692,500
OZ - 7 330X XA
1,889,500,000& 1,889,500
O R0 ZAICIAR XIJAAS
675,000,000 675,000
Hed LA 243 At 300,000 300,000 0
401 AIEHIZL SR THY] 300,000 300,000
01 Al&HI 300,000 300,000
OZd Ot gdst AFY(MEHI)
300,000,000 300,000
eIl eISH 50,000 0 50,000
201 er23| 50,000 0 50,000
03 A= SHI 50,000 0 50,000
OLIELIAL! CISH 28
50,000,000 50,000
SAICIRE M & X2 (REASESERA) 136,000 0 136,000
SOOI T2 2 & XA 136,000 0 136,000
308 AtXIEMSOIE 136,000 0 136,000
1 S| 2SH U B XA AIE 136,000 0 136,000
OFCOIA =2 29 & X&
136,000,000 136,000




H £ 0l & AF & S
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Al A

SN HEEED
M MEAFIPAE Y
CHel: AIRIZTE U JIBIEN (AT ABAESEE) COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
aac=FNE=anl; 15,040,000 8,600,000 6,440,000
= 6,689,000
Al 8,351,000
SRR Tt g 5t 15,040,000 8,600,000 6,440,000
[ 6,689,000
Al 8,351,000
AHF Y A5} J|BAL (RS HESEN) 15,040,000 8,600,000 6,440,000
= 6,689,000
Al 8,351,000
AHHAIE 2B IHE AL 1,000,000 2,000,000 1,000,000
308 XXM SOOI 1,000,000 2,000,000 1,000,000
11 SIS0t 4 A AS A 1,000,000 2,000,000 1,000,000
OLHAIE SFNEAY
1,000,000,000& 1,000,000
gS=IHH S THA A 14,040,000 6,600,000 7,440,000
[ 6,689,000
Al 7,351,000
308 AFAIEHMSOIE 1,391,000 0 1,391,000
[ 364,500
Al 1,026,500
11 S [2S0 e 4 A AS A 1,391,000 0 1,391,000
OLS2HAIACHR HMAI (HEUR T2
EZIHEAL) 1,391,000,000& 1,391,000
= 364,500
Al 1,026,500
401 AIZHIX 20 12,649,000 6,600,000 6,049,000
[ 6,324,500
Al 6,324,500
01 AlZ8| 12,509,000 6,520,000 5,989,000
OES=IIHEI A
12,509,000,000& 12,509,000
= 6,254,500
Al 6,254,500
02 Zeltl 113,000 65,000 48,000
OES=IHEA AN
113,000,000 113,000
[ 56,500
Al 56,500
03 Al 20HHI 27,000 15,000 12,000
OES=II A AL
27,000,000 27,000
= 13,500
Al 13,500
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Al A

20233 = 204 AT AELSSLES|IH Al
SN APTED
I JEAYCAISH
Sl 22| S 2 NI BRAE N (ATABHISES|H) (12l M2
SA - B GR(31) - HIRAY - BES il &k e HlmS2
22 XS0t 1,779,119 1,850,200 271,081
YEAZTASH 1,779,119 1,850,200 271,081
2 SUl 2 HAFD| 2BAE HL(ICHBHSIS 1,779,119 1,850,200 AT1,081
EEI()
o - 7 HIOHHEAS g - 22 XI& 501,200 501,200
201 2| 1,200 1,200
01 Al 22| 1,200 1,200
O - 7 HIOHHE MENL - 2 XA
IRE =% 1,200,000& 1,200
308 RXIHMSOIH 500,000 500,000
01 AXIEHZLAExS 500,000 500,000
O+ HOIHY 43 - 2SN
500,000,000 500,000
ZEEEHAL(AIEISEH) X2 1,277,919 1,349,000 71,081
308 AXIHMSO0I & 844,655 898,000 A53,345
11 BI 2SI CHEHE AR LAE AL 844,655 898,000 A53,345
OQIEAIEIREN 29 844,655,000& 844,655
3N HES 433,264 451,000 A17,736
01 AL - SHILEES 433,264 451,000 A17,736
OCIFEAEIFN 29 433,264,000 433,264
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20233 =0llot FEAEESEESIH AHM

Al A

= SAE 243t XJ(SE3H)
Tl MEAE 243 NS (FTASES ) (FCASLSSES]H) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
b= g SRS RN 29,277,109 13,468, 149 15,808,960
= 17,173,000
Jl 981,906
Al 11,122,203
HEANZE 243 NJA(EE3A) 29,277,109 13,468, 149 15,808,960
= 17,173,000
7l 981,906
Al 11,122,203
HENT B8 NA(ATASHI) (FCHELGSS 29,277,109 13,468, 149 15,808,960
=)
= 17,173,000
7l 981,906
Al 11,122,203
HEAT LU 550,000 957,000 407,000
308 XtXIEMSO0IH 550,000 957,000 A407,000
11 SIS0 EAS A 550,000 957,000 A407,000
OS2 AZEANE SEMS(FHAEXE)
500,000,000& 500,000
OUXNENSAE SEME(SHAEXE)
50,000,000 50,000
HSAE AN HsHHEE-XIR) (M EALY) 4,599,679 4,367,093 232,586
403 AXIEHHSAH=201H 4,599,679 4,367,093 232,586
01 AR A =2 £ 4,599,679 4,367,093 232,586
OHSAIE AMLSUsHEE-XIH)
4,599,679,000& 4,599,679
HEAE =XHEEMEAIS (HE) 22,716,450 6,766,016 16,950,434
= 17,113,000
Al 5,603,450
403 MR HHMSAHE01H 22,716,450 6,766,016 15,950,434
[ 17,113,000
Al 5,603,450
01 AXISHA=2 22X 22,716,450 6,766,016 15,950,434
OFXEZHEAE (A-)
22,716,450,000& 22,716,450
[ 17,113,000
Al 5,603,450
HEAT FXEZMEAML(0ISEE) 75,000 42,060 32,940
= 60,000
Al 15,000
308 AIXIHHISO0IA 75,000 42,060 32,940
= 60,000
Al 15,000
01 HASHHBSEXS 75,000 42,060 32,940




SN ANTOIHMD
M MSANEY 2435 KA(SESIA)
OISl MEAIR 2A3 N (FTASHIH)(ATABHSSHH) (crol: M el)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
SES SN ETETES)
75,000,000 75,000
s 60,000
Al 15,000
SHHLEAIE XA 252,960 252,960 0
| 208,320
Al 44,640
403 X SHMSAHZ01 A 252,960 252,960 0
| 208,320
Al 44,640
01 IXISHEEE 252,960 252,960 0
OBILBAIE EXAL
252,960,000 252,960
| 208,320
Al 44,640
LM ZHIAIS 1,083,020 1,083,020 0
| 773,586
Al 309,434
403 XIS MS 201 1,083,020 1,083,020 0
| 773,586
Al 309,434
01 XX SN AG=E X 1,083,020 1,083,020 0
OLSHE HHIA 1,083,020,000 1,083,020
| 773,586
Al 309,434
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Al A

20234 Olla RIS A S HSIEES|IH &
25 nsatelt
M MENESSEE
el SY=INE SS(ATAELSSESIA) (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ns22| 19,684,500 37,751,250 18,066,750
HRNNS2HH = 19,684,500 37,751,250 18,066,750
SYFINE S (FTHEHFSEH) 19,684,500 37,571,250 A 17,886,750
SEFINE AL (2XZAIY) 6,509,000 11,090,000 4,581,000
403 XIS SKH=0|™ 6,509,000 11,090,000 4,581,000
01 RXIEHHIR2E X 6,509,000 11,090,000 4,581,000
Og4o =2 TAXIE NS Al
747,000,0002! 747,000
OstLbli =22 3G =XE =4
598,000,000 598,000
OL2i5s SEZ=XE &=
304,000,0002! 304,000
OHAEATI2 BAFRIE &5
1,150,000,000&! 1,150,000
OAHME 74-621K DHEXIE &5
950,000,000 950,000
OHAS B1-81X| BEFIE =4
100,000,000 100,000
OgstsE 65-17HA SG=IHE &4
950,000,000 950,000
OSNEE Me=g=x& =4
600,000,000 600,000
OZadH 222 M3BIF=IE =4
400,000,000 400,000
O2Zstg 28 H43I=IE =4
710,000,000 710,000
BEFINE X4 7,219,000 15,480,000 18,261,000
403 XXISHSK=0I1™ 7,219,000 15,480,000 18,261,000
01 RIXISHRIRH2E X 7,219,000 15,480,000 8,261,000
ONsts 365-1HA SSFXrE XIS AF(
01 2-2CHH) 554,000,0002! 554,000
O2t+3 57-5HX SY=XHE (01 2-2CHH)
175,000,000 175,000
OBHsS6-17(HAME) 2EFIE A4E(0]
QF 2-2CHH|) 3,990,000,000&! 3,990,000
O7g2el3d Xotsg=as =4(01Y 2-
25tA) 2,500,000,0002! 2,500,000
Green Parking JHEE A 318,000 333,750 A15,750
403 XHXI A S =0 & 318,000 333,750 A15,750
01 XXM 2L X 318,000 333,750 A15,750
OGreen Parking At 318,000,000 318,000
ST LK ALY 395,500 155,000 240,500
403 XXISHHSK=0I1™ 395,500 155,000 240,500
01 XIXISHA2E X 395,500 155,000 240,500
ORSEFIUNE HLAL 395,500,000 395,500
OIIIE RAEFIE XA 55,500 62,500 AT,000




A DSl
M MANS2EE
Pl DAEXE HE(ACABHSISYS ) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 X SHHMSAH=01H 55,500 62,500 A7,000
01 AXISHHA =2 & 55,500 62,500 A7,000
OOCHIIE 24=ItE EXIXNE At
55,500,000& 55,500
SA2ESE XotF=iE &F 4,050,000 6,450,000 22,400,000
401 Al HIZ S OHbI 4,050,000 6,450,000 /2,400,000
01 AlZ2H| 4,080,000 6,450,000 22,400,000
OZAHI (01 2-2EHH)) 4,050,000,000& 4,080,000
=87 243 At 37,500 100,000 262,500
403 THXI M SAH=01H 37,500 100,000 262,500
01 AR A =2 £ 37,500 100,000 262,500
O=X87= 43 A 37,500,000 37,500
20| SSEFIE &5 300,000 300,000
401 AIZHIZ S0 300,000 300,000
01 Al&H| 300,000 300,000
OAl&H| 300,000,000 300,000
dolorettd =Xty F=I2MAlE £X 600,000 600,000
401 Al HIZ S OHbI 600,000 600,000
01 AlZ2H| 600,000 600,000
OAIZH| 600,000,000 600,000
CE=s MHSE TAZeNE HE(FIE) 89 200,000 0 200,000
207 ARl 200,000 200,000
01 HESHI 200,000 200,000
OE 8= MHBR TAIZLIHE HE (=X
&) 84 200,000,000 200,000
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2A E23
BN czo as
Gl ACAl CRO SE(ATMELESHE) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,021,000 18,039,270 A13,018,270
c2Y =5 5,021,000 16,956,000 A11,935,000
ey CRY SF(RESHASEE) 5,021,000 16,956,000 11,935,000
SEHAMHEH~HHRI 22t T2 EE 4,680,000 6,078,000 1,398,000
401 AlZHIZ SO 4,680,000 6,078,000 1,398,000
01 A28l 4,680,000 5,500,000 /820,000
O£ 34,000,000& 34,000
O 4| 79,000,000 79,000
O3 A 4,567,000,000& 4,567,000
S22 22 A XNotte HE 341,000 10,878,000 10,537,000
401 AIEHIX R0 341,000 10,878,000 10,537,000
02 Zeltl 341,000 600,000 259,000
OZell 341,000,000 341,000




2A:

I‘I il-l

A 2 o & A

E3/H &M
INESESES )
By THAEARY

&
SATHMAIY FR(JCAELSSES)

Al A

S (S5 &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
RHeH & 24 1t 32,266,466 29,576,976 2,689,490
= 16,781,000
Al 15,485,466
o ALY =8 32,141,466 29,514,476 2,626,990
[ 16,781,000
Al 15,360,466
CAITHEALY FE(RESHSELESIA) 18,019,994 6,340,976 11,679,018
= 7,700,000
Al 10,319,994
QAUMSAASAI YR ZAE 29 1,896,092 1,861,362 34,730
308 XXM SOIH 1,896,092 1,861,362 34,730
11 SIS0t 4 A AS A 1,896,092 1,861,362 34,730
OQUEZAAZATHAXRALE 2
1,89,092,000& 1,896,092
HESZS & TAIHE=E A 15,523,902 139,614 15,384,288
[ 7,700,000
Al 7,823,902
101 e124d| 150,000 40,89 109,104
M IRNZZ2NSE S 150,000 40,8% 109,104
O AT HEXJME JIZH2 2R B
(3%) 150,000,000 150,000
201 er23| 242,902 93,738 149, 164
= 131,000
Al 111,902
01 AFR2t2ltl 87,662 77,558 10,104
OFANY XM 24
82,662,000& 82,662
OZAIHMHBHEA 29 5,000,000& 5,000
[ 5,000
02 324l 3,240 5,280 A2,040
O AN HEXEHE 823
3,240,000 3,240
03 A2 I 152,000 10,900 141,100
O=ANdUs =24 152,000
oAM= 40,000,000& 40,000
= 40,000
olHdAgdt T2 1
40,000,000 40,000
= 40,000
oHAHNEZZ A 20,000,000& 20,000
= 10,000
Al 10,000
o uEEZ ) 20,000,000& 20,000
= 20,000




2A:

X XH -
o=

INESESES )
oy A =8
=
=

el SAITHMAIY FE(ASHEHSISEIH) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

oAMUNEZZ Y 32,000,000& 32,000
= 16,000
Al 16,000

207 ARl 20,000 0 20,000
[ 10,000
Al 10,000

01 S| 20,000 0 20,000

O8I L RLIEYBY

20,000,000& 20,000
= 10,000
Al 10,000

301 EtE N = 5,000 980 4,020
= 5,000

11 AALAEIXIES 5,000 980 4,020
oA~ 29 5,000

S TAITIATHE U HHEA 2K

5,000,000& 5,000
= 5,000

307 elztol & 80,000 0 80,000
= 40,000
Al 40,000

02 2IZHBHAIAE & 80,000 0 80,000
OFoUS2A 80,000,000& 80,000
= 40,000
Al 40,000

401 Al HIZ R OHHI 1,376,000 0 1,376,000
[ 688,000
Al 688,000

01 Al&H| 1,376,000 0 1,376,000
OgAadHel JaHd 666,000,000 666,000
= 333,000
Al 333,000
OFeE3 2o 710,000,000 710,000
= 365,000
Al 365,000

402 2I2F X201 & 90,000 0 90,000
[ 45,000
Al 45,000

02 QI TH2AILEE (01X THE) 90,000 0 90,000
O& ==l A& A 90,000,000 90,000
= 45,000
Al 45,000

403 MR HHMSAHE01H 13,560,000 0 13,560,000




2A:

T8 & 251k

Hu: QACA THAAY XX
Gl CAITAIAIY =XI(RTAELI=HSH) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,781,000
Al 6,779,000
02 SIS0t 2 S A A 13,560,000 0 13,560,000
OgAF ZH(IH) 6, 124,000,000 6,124,000
= 3,062,000
Al 3,062,000
OXIgt=xta =4 (1H) 2,800,000,000& 2,800,000
[ 1,400,000
Al 1,400,000
OME8Zgh =&(IH) 2,590,000,000& 2,590,000
= 1,295,000
Al 1,295,000
OADIET AITHH AL (I B ADHE AIEI)
2,046,000,000& 2,046,000
[ 1,024,000
Al 1,022,000
oI ATy GMA 2452t ~8 89 600,000 600,000
207 AR 600,000 600,000
01 H7ESHI 600,000 600,000
Oold ATH SN BASILO 22 B9
600,000,000 600,000
CATHAY FEAIY = (/Y SHASEIA) 14,121,472 23,173,500 29,062,028
= 9,081,000
Al 5,040,472
CAITHY =EAIL(SY, Le28l, FHI) 499,972 499,972
207 ARl 499,972 499,972
01 S| 499,972 499,972
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